BT TRIA O - HEHHEE X T EFEJ'ZiGEWH KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37837 87216 41,702 45514
RIRET1T 5 13 7 6
RIRET2T 25 54 26 28
RIRET3T 147 472 238 234
RIRET4T 388 1,001 484 517
B 565 1,540 755 785
REH 2,634 6,255 2,927 3,328
L&A 4,176 9,635 4575 5,060
5E 2,484 6,009 2,906 3,103
B AN 1,227 2,841 1,342 1,499
BERT 1,119 1,803 850 953
BER2T 739 1,447 683 764
BHERST 393 916 460 456
g 2,251 4,166 1,993 2,173
BARE 252 657 331 326
= 2,187 5,288 2,487 2,801
hERE 597 1,432 655 777
e 2,342 5219 2,516 2,703
25 L ET 2,254 5,284 2523 2,761
B &AL BT 69 153 61 92
HEFILET1T 589 1,308 618 690
HEFILET2T 595 1,367 652 715
HEZFILAT3T 569 1,355 660 695
g 1,822 4,183 1,991 2,192
B & it B Fr ET 666 1,632 804 828
BHEREBET1T 594 1,243 593 650
BHERERET2T 752 1,787 869 918
BHERERETST 771 1,691 773 918
HEFMHET4T 457 1,014 496 518
HEHFMHETST 793 1,667 798 869
HEHFHET6T 860 2,027 975 1,052
HEFRET7T 847 1,991 964 1,027
HERERETST 56 167 77 90
£t| 5130 11587 5,545 6,042
HEF R FET 1,788 3,931 1,920 2,011
S|EFET1T 561 1,520 758 762
S|EFET2T 757 1,839 879 960
S|EFET3 T 734 1,497 713 784
g 2,052 4,856 2,350 2,506
ERE1T 551 1,345 650 695
EIRET2T 350 871 429 442
EREIST 467 1,343 652 691
EIRETAT 674 1,559 733 826
EIZEIST 474 974 490 484
g 2,516 6,092 2,954 3,138
MEH 2,788 6,390 3,026 3,364
J\THET1T 25 28 9 19
J\THET2T 24 62 31 31
J\THEI3T 57 129 62 67
B 106 219 102 117
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